NOHABJ/bAHKE - JEAHAYUHE N HEJEAHAYUHE

Y cneaehum npumepuma peluu jeaHauvHe UAn HejeaHaumHe y ckyny N .

HACTABHWE

Yanpakkalllnxajneenh

x-a=>b x+a=>b x:a=b x—a=>b a:x=b a—x=>b
x=b:a x=b—-a x=a-b x=a+b x=a:b x=a-b
m-x=n m+x=n xX:m=n X—m=n m:x=n m—x=n
xX=n:m xX=n—-m xX=n-m xX=m+n xX=m:n xX=m-—n
k-x=1 r+x=g x:e=f x—s=d e:x=b c—x=d
x=1:k X=g-r x=f-e x=d+s x=e:b x=c—d
x-12=144 x+234=452 x:23=12 x—213=459 156 : x=6 1000—x =345
x=144:12 x=452-234 x=12-13 x=459+213 x=156:6 x=1000-345
x=12 x=156 x=26
x - 25=600 x+435=802 x:18=34 x—213=459 540 : x=12 623—x=389
x=600 : 25 x=802-345 x=34-18 x=459+213 x=540:12 x=623-389
X+ 9>72 X+ 972 x —6L9 x—6>9
x>72-9 x<72-9 x<6+9 x>6+9
x>62 x<62 x<15 x>15
xe{63,64,65,...} xe{O,l,Z,....,62} xe{15,14,13,...6} xe{15,16,17,...}
45 — x>5 45 — x<5 x + 7242 x + 7<42
x<45-5 x>45-5 x>42-7 x<42-17
x <40 x=>40 x=>35 x<35
xe{39,38,37,...,0} xe{40,41,42,43,44,45} xe{35,36,37,...} xe{34,33,32,...,0}




x —4>8 x — 4<8 64 — x<8 64 — x=8
x>8+4 x<8+4 x>64-8 x<64-8
x>12 x<12 x>56 x <56

xe{13,14,15,..)

xe{12,11,10,..4}

x€{57,58,59,...,64}

x€{56,55,54,...0}

x-9>72 x-9<72 x:6<9 x:6>9
x>72:9 x<72:9 6-9 x>6-9
x>8 x<8 x<54 x>54
xe{9,10,11,...} xe{8,7,6,5,4,3,2,1} xe{6,12,18,24,30,36,42,48,54} xe{60,66,72,...}
45 : x>5 45 : x<5 x-7242 x - 7<42
x<45:5 x>45:5 x>42:7 x<42:7

x<9 x>9 x>6 x<6
xe{1,3,5} xe{9,15,45} xe{6,7,8,...} xe{5,4,3,2,1}
x:4>8 x:4<8 64 : x<8 64 : x>8
x>8-4 x<8-4 x>64:8 x<64:8
x>32 x<32 x>8 x<8
x€{36,40,44,..} | x€{4,8,12,16,20,24,28,32} | x{8,16,32,64} xe{l1,2,4}
12-x+3=51 13-x-3=36 100-9-x=28
12-x=51-3 13-x=36+3 9.-x=100-28
12-x=48 13-x=39 9.-x=72
x=48:12 x=39:3 x=72:9
x=3 x=13 x=8
x:7+49=52 x:6-10=15 88—x:8=80
x:7+49=52 x:6-10=15 88 —x:8=80
x:7=52-49 x:6=15+10 x:8=88-80
x:7=3 x:6=25 x:8=8
x=3-7 x=25-6 x=8-8
x=21 x =150 x=64




169: x+7=20 150: x—-3=147 150-50: x =145
169:x+7=20 150: x=147+3 150-50: x =145
169:x=20-7 150: x =150 50:x=150-145
169:x=13 x=150:150 50:x=5
x=169:13 x=1 x=50:5

x=13 x=10




